Diane Nguyen

MSBA 645

Class Assignment 1

Due: 3/30/19

Part 1:

e Lift Chart
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Part 2:

e The flow diagram.
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o Effects Plot Screen Shot
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¢ In this Effects Plot, the five most important variables in the Effects Plot are: JOB
(JobSales, JobManager, JobOther), DELINQ, DEROG, DEBTINC, and NINQ



¢ Report the misclassification rates for the Train, Validation, and Test datasets

Fit Statistics

Target=EBAD Target Lahel='

Fit

dtatistics dtatistics Label Train Validation Tezt
_ATC dkaike's Information Criterion 248536 . .
_AZE Average JFquared Error 0.1 0.17 Q.16
_AVERE, Average Error Function .51 0.54 .54
_DFE_ Degrees of Freedom for Error £365.00

_DFM_ Model Degrees of Freedom 17.00

_DFT_ Total Degrees of Freedom £382.00 . .
_DIV_ Diwizor for A35E 4764.00 3576.00 35580.00
_ERE_ Error Function 2451.36 1925.73 1920.39
_FPE_ Final Prediction Error 0.1a . .
M Maximum &bsolute Error .99 l.00 l.00
_M3E_ Mean Joquare Error 0.16 n.17 0.16
_NOBS_ Jum of Frecquencies 2382.00 173,00 1790.00
N Number of Estimate Weights 17.00 . .
_RLEE Foot Awverage 3um of 3quares 0. 40 0.4l 0. 40
_RFFE_ Foot Final Prediction Error 0. 40 . .
_PM3E Foot Mean 3cuared Error 0. 40 0.41 0. 40
_ABC_ dchirtarz's Bayesian Criterion 2583. 55 . .
_3BE_ Jum of Jquared Errors 765,50 395,15 385.63
__3TIMIT_ GJum of Case Weights Times Freg 4764, 00 3576.00 3580.00
_MIGC_ Misclassification Rate .19 0.0 .19

According to the regression node, the model misclassified good loans in the training set 19%
of the time, 20% of the time in the validation set, and 19% in the test set.



e On page 28 it is noted that if the model is useful, the proportion of individuals that
defaulted on a loan should be high in the top deciles and gradually decrease as we move
to the right. The default model, however, does not exhibit that behavior as its cumulative
% response chart rises in the mid-deciles. Identify the lowest and highest deciles between

0 and 60 depths.
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The Cumulative % Response chart pictured above arranges all of the observations into deciles
that are based upon their predicted probability of response, then it plots the actual percentage of
respondents. Here all of the individuals are sorted in descending order of their predicted
probability of defaulting on the loan. The plotted values are the cumulative actual probabilities of
loan defaults. For the model to be useful, the proportion of individuals who defaulted on a loan
has to be relatively high in the top deciles and the curve must be decreasing. Here the model is
not useful because the curve increase in the middle deciles.

The lowest value is 1.186 with a cumulative % Response of a depth of 15.

The highest value would be 1.577 with a cumulative % Response of a depth of 55.



